CSE 326 Reading Quiz

Name: ______________________ Score: ____

Wednesday 8/16/00

1. In the all-pairs shortest path algorithm, an optimal path between v and w is needed for each vertex v and w.  The algorithm makes crucial use of which observation:


__ There is a node k (initially unknown), through which all optimal paths must pass.


__ If are no cycles in the graph, each node needs to be visited only once.


__ If there is an optimal path between v and w that goes through a node k, then the subpath from v to k and the subpath from k to w must both be optimal (for their respective endpoints).


__ If a given path between v and w is not optimal, then it can be improved by removing some element k along the path.


2. Combining two disjoint sets into one is called


onion


union


unification


das Entscheidungsproblem

3-5.  The conceptual structure of the disjoint sets representation is a/n ________ of _______, while the underlying programming construct is a/an ___________.  (Hint: all three terms contain the letter ‘r’).

6-7. The “name” of a set is not really important in most applications.  In the disjoint set implementation, the i _ _ _ _ of its r _ _ _ is used as the name of the set.

8. Kruskal’s algorithm was relevant to today’s reading because


Mr. Kruskal invented and later patented the “set”


The final result of K’s algorithm is a collection of more than one disjoint sets


The subtrees in K’s algorithm form disjoint sets

